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(A )4. In the picture below, how many grams does each square block weigh?(A)20g
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Which number should be filled in the blank?
(A)20 (B)30 (O)18 (D)28
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( A )6.Amy has 3 $10 coins, and Andy has 2 more coins than her. Which answer can
express the amount of money of Andy? (A)10 x5 (B)10x 3 (C)10 X 6
(D)30 x 2
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( C )I10.If it costs $150 to buy 3 sets of yogurt, and my mother buys 10 sets, how much is
the total cost 7 (A)300 (B)400  (C)500 (D)600
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(A )14. There are 12 pieces of sushi in a box, so how much is % box of sushi ? (A)2
B)3  (©O4 (D)6
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